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What does the vertical (

NOTES:

This graph shows a cyslist's journey where the distance is
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[ Comnect | NOTES:
Car Rental Costs
The linear function shown =
represents the cost of a car 160
rental. 120
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[ Practice | EXAMPLE 1

The graph of a linear function has slope of 3 and y-
intercept -4. 5

Werite the equation for this function usingy = mx + b
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A linear function can be described as follows:
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slope = " y-intercept

Slope-Intercept Form of the Equation of
a Linear Function

The equation of a linear function can be i
written in the form y = mx + b, where m is
the slope of the line and b is its y-intercept.
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[ Practice ] YOU TRY!

The graph of a linear function has slope of = and y-
intercept 5. 3

Write the equation for this function usingy = mx + b
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[ Practice ] EXAMPLE 2 [ Practice ] YOU TRY!

1
Graph the linear function with equation: y = Ex +3 Graph the linear function with equation: ) = —Zx +2

Steps: Steps:

1) Use y-intercept as start
point.

1) Use y-intercept as start
point.

2) Use slope to help find one
point above and one

2) Use slope to help find one
point above and one

point below - point below
3) Use a ruler to connect the :4 3) Use a ruler to connect the
3 points. - 3 points.
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[ Practice | HOMEWORK!

Textbook Questions:
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